Ratio, Proportion, and Variation

Ratio:

The ratio of two number a and b, written as a : b is the fraction a/b

provided b # 0 thus
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In each of the following proportions determine the value of x.










































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































PROPORTION:

A proportion is an equality of two ratios.
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Find the fourth proportional to each of the following sets of numbers. In

each case let x be the fourth pro;)ortlonal () 4y =55 1o -
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Find the mean proportional between 2 and 8.
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They represent a specific type of function called variation functions.
The three general types of variation functions are direct, inverse, and
joint N — 1
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